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Q. P.Code: 24888

Praeation: Shonrs Maximur Marks: K0

NIE: 1) Cuestion Nu. 1 is cormipulsory,
(2] Selve any three questions from the renaining five.
[} Figures ro the right indicete tull marks
i) Assume suitable dile i1 nocessery and eention the sime i anasasrs sheel,

Ll Aremplany § questions
n) Wrile down current equation of diode angd explain significanee of such parameter,
by Calewtae Ly, Teand Vow for the vommon emitter ciecuil showd in'Fig, 1h
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b Explun effect of temperatlureon ITET and derive cquation for zero lemperature driff,
d) Compare CE, CR-and CC configtirution, " Y o R

el Deaw small signal ivbeid pi madel of BT ineluding sarly sffeer

N1 Wiy L pselllators are preferred fur high frequency applications?

th  a) Draw the output wavelorm fof the clipper and clamper cirsuil shown in Fig 2a and 2h. [ L0
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k) Derive the expression tor lFequency ofoseillation for a irmsisorized {BIT) RO phase shitt  [10]
cacillador
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Q. P. Code: 24885

(X3 1z} Find Teq and Yewg for the cirenit shovwn inFip 1a - 1K
Py ['! Iy
EL ]F Reso-a L
2
1 r/ll
= Qo =
-I’ Sk ;?:-‘E:.ur:-sh
2 4
5y A
- Tig, 3u
B} Explain the comstrucrion and charseteristics of M-channe! Enhancemaent MOSEET. [ppw |
tranzfer and drain characteristics.
Q.4

Al For the gircuit shmen in Fig, i determine Yasoand Yo, Also caluulste volge gain, |
ot impedance ang outpul i pedagee,

Vi = IV, Ko = 0.3 masvE jo0.01v B

=y

ok

& Uy
G ' = %
! o ; 3 .
i 5V 3
iy TR i
R hjl-i'i.tldh.!n_-,;i, Yasip, Vimg , Veeand. Vs lor hie @isvuit shown'in Fig b, (1
e e ) / Rl
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Q. P Code; 24888

ab For the cirenit stavam below m Fia Sh, the transistor Perantcre s gre Vien:=07%,  [10]
U= 100 &rd Vs =0, Delermmine 2. 7, and A& . . . ;
. A
Elra:f-_ |DlE _ﬁ ”:_ e
.1'11!..1' i : T k]
|_ : L Nj\_,_ri i— [
= =z 2k

| le =% - : é
Mllﬁ(-?r‘ 2 e sk | LL E:-_ jlﬁ_

|

Fig. 5a

) Drraw and explain enengey b diagram of MOS capacitor i Accamulation, depletion andg  [10]
IYErsion regian, T '

-

ry

Short weles on; [ Altempr any Imuj [210]
a) Constroction and n:-pu:rsnn-n L:J"-'amu:.!m-m-:jd& ; =
Fm :
b} Crystal oscilfaroe 0 e N R A
ch Tranzistor as a swilch: =~ Rl . ol T
d) Emitter followes, s RN ST TR ﬁ.:*.-.“.fi.,------.-"_f‘“,_‘
e) R:glftnsm'n[&ma,mm -;vﬁf-ET G R fresyf i
: s ! = T e I o [ 'i
s i o T Rl
] " '1'1'; Foy i
: i
ey
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(. P. Code; 24392

(3 Haurs) [Total Marks: 80]
N.B. - 1) Gueslion N, 1is Compulsary.

2] Answer any THREE questions frem O, 2 ta Qs

31 Figures to the right and leate full marks

=

. . frie s .
G 1. a) BEvarluale the Laplace transform ol ainhi- bsind 2— 1) 3]
g g '

bl Determing the constants &bi,d so that the functich fzy =" —and + bv? 1 ifes” —diey +u)

15 aralytic: 5
el Hieel it normegl to the surface ‘:.'.'r"’z1 =4 atzhe point {-1,-1, 7, (5]
dj Chtatn balf sange sine series far i) =i, QgD (=]

DL affu=e"{xeos2 y— ysin 29} then find snilic fenction FAE) by Milrs Thomson Method [&]

b Find the Fourler setfies far ffT=29 4", <3 s e (i3]

o) Find the Laplace transform of thefotliving ! : / ' i _{-' h""ﬁ
: i i O

:. ",r

o £ T sing] ' il L[“L"HJ 5 [A] F

o |I 2
O3 a) Frove Lhat L ehe f—sina ; [&]
T
. £z 42y
by Evaluate Inverse-Lapdrce-tra nsform: osing Carnahstion Theorern L gy (]
; (s =451 8)
clshow that & = v coss i +xe™ oos 2 7 —2" gin: k s irrotacional vector field, T o if
o
A7 =N dand also cvaluatg J .f*'.rz'r'.'alépg i surve jeining the palnts PIOO0  and Qi-1.2, =) 18]
i o
4 a) Find the Fouier transformaf Firl =27 [&]
bi Shenw that the function fi{xy |, £(x) =% srcurthogonal on (=110 and delermize the
corstant A8 B 5o that fynctions 7, x)=1=4r+ Bz~ s orthogonal ta bath #{ v} and
J20r) on that Inlesvsl [5]
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Q. P. Code: 24397

&t Fingd bilisesr trg nsferrmation which maps the paints +=1, ;-1 oita the Points =i, 0 Happpe

find the image of Ji‘i “1 oneow plane fing Invariant paints of 1his i #rsformation "]
Q5 2 sobve Using the Laplace =ransform the fallowing sestemn of cguations |
a4 e -
— S ‘}! =¥-2X where X{0V =8 F(05 -1
p g

B Find Complex form of the Faurler series for #ia) o™ jn —u - N where fatis g

::_ m . I}F
real tonstant. Heneea deducs that — e —(, % |G
asifiiay = gl

£) Verily Green’s Thegramm i the pline f;,!r_j'-[j‘_'rj'— B0 ) edr =y — by where Cis

the boundary of the region defined by AT T fil= U';, 5]
Qeal Mrovethat J jx) = LX) 1.{ 58 |2 B Rt & T (6]
: 1.
&2 Find the map of tha lityer wy=d betransformstion = -« ]|
£

) Eviluate ﬂ F.d L'l.il"i{‘-Ig- F-—-i.r.lﬁ —'E_rz f + z‘.'éi? whare 5 iz the region bovunaped by
- F, = - t o ’ .
a :

B

-

X5 Pt = ey o= 3 using Gaygst Iﬂi'-.'Eth:l:lt.é.lh-;ECll'tm. (a1

il
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Q.P. Code; 25073

Fime: 3 Hours Mlarks: 80
NB: (b Quecstien Nu, 1 is compudsoTy,
| (23 Solve any thres questions fram the remaining five gueslions,
: () Figures to the rieht mdicass fistl rarks.,
| 47 Assume suitable data i necessary amd mention the same in answer sheet.
|
.1 Adtemipr any S queslivns [201]

(2} Caplain various tpes of capacitors,

_ ih]  Why should collector reststor o be as large a5 pussible o the design of CF
|I amphfier?

i {ch  Explain Sener as voltage repiriator.

[d} Seate and explon Miller's Theorem.

) Dieawr and explein small signal model of 2 dode.

iy Explain the hvbrd pomode] of BIT,

{32 la)  Explain the fabricetion steps of passive elemenls. [5]
& ihd  Explain coneopt of mero lemperalule deefein FRERT, |5
(2] Design an L osection L6 Tilter with full wave rectifise te mest the following (10

specifications; The DC aurput volbage ¥, = 20 Vdeliver ¢, = &30 ) mA L

the resistive lewd and the requited nipple Lactor-is 11,04,

03 (a}  Draw smoll digosl h}'hj'ld'pamméterﬂqui'mlenT, eirenit fur CE amnplificr and define |10
the same. Whit are the advantages of b parameters?
I by Determinefog, Fos Fosg df fnss =9 mAand ¥u==3 ¥ fur the sirenit given [10K]
in Fig, 3k
i 0y
il
—— l L o

Fig. 3
04 {dy Designithe resistors of a wingle slage C5 amphifier for audio froquency with  [10]
|I BEWT L awith +,, = i3 s maand 4,.)=12
i} For he civcuit shown bofow i Fig 4{b). the transistor paramere: g ans VRr | 1|

| - = DETAT |:] 200 and v = =
: i Denve the expeession for lvwer cut-off frequency {or Lins constast) duz o
nput coupling chpacino
by Determine lower cut-off frequency and midband valtage gen.

i 4

—f
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Q.P. Code: 25073

r1|:""'-.’
]
|
51&'-:. z 1k
0|k, L{JAF[ j
i~ o ey
R
o L =
IL_'-?.' A -E'-:'F'.'I!,' E G'J-l‘:
i
: ; =L =
FFig, 4y

{a) Furthe dreuit sty JFET as shown i Fig: Stay, if fogr= 6 ma, e
R I I IJF,"'-'T.-.'F 1 gl Dretermnineg i) Feosgn i1} Jag, iil) Hrocand 1v)

anm,
% --J-:_"._I_- II.-| 2
copn. T, A -+ £ W
— Mt qertf |
| il -|-||- i
.r"'*-.l 1—_| s
ERELY N | =Ty
H 2 - e Bl
slakl
“_: J f |I'I--EI.'¢|'F
L4 A
G b St i Sia)
(e} Torthe Cireit st belivain Fiiz. 5{b), Lhe transistor paBImecrs gre Hae
= 07 W = 100 8nd By = w0, Deepmine 7, Zyand Ar.
G000 |ouE 104F

4y ——\p

-

i | Z 29k _L
: "»,,'m(:@ T_ ik :IF | ?lk{
Loy —-]: '::-cuPJjW J_

Fig. 5ihy

TR i R

h

J"J

[ B

[ S -
i

Shorl nates on: (Atempt any four)
{ur 'Hi_l.;h'ﬁn:ﬁum!g].-' T equivalent madel of cowmon cmilier BIT
(B Stability Jaceors of various Frasing techniques of BIT.

: l_'c;fl Comparison of BIT CE and JFET 0% amplifizr,

(d} Different tvpes of fillers
(¢] JFET paramstors,

FURN OVER
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Q.P. Code : 13606

(3 Hours) |- Tulalmarks = B

11 Questicn nunmiber 1 gz cumpulsory,
2} Attempt any three questions from e remaLmg five qz:n::s.tmm
31 Figures 1o the right indicsre full nzarks. ¥

Frnd 1he angle horwesn the 2urfiees

x!ﬂgg+1— FH=0 .1:3.’+J—Ear{1 12 I}

o

i

"*.hri'- that the fmstionz f;(x) = 1. J’Eix.,“.l xare. * outha il on
~1, 1), Deternaine the conatnts o angd & =ml Lh:-tT the function
_T;.If:::,] = —=1l4+ax+hxdiy :'-rrh-:l Fomal fy [-.-n'rh f and fyon rhat intens al.

¥ X N PRR
Find the Laplace transform of 4. v e sinwian

J‘|-.:ufrrr1.:[f|:?] = (%7 — '?J:J.r =+ 2xy] + r{.i:t"'* J; oy — )
s analylic and Gnd lfz‘l arul ,r"f_f} interms of 2,

Ubitin hall- range sing series of fﬁj = !1"{]’!’- = x}-j_n.q;[:l, ) amed honce,

1'\.I e
find the valueof E r;ﬂ % e s
r e g ok

s

kY

Mrove that ) - : ¥
F = {y? cos x4 =T a-'— FE}fsmxf Jﬂ;-l- [-EEJ + 2]k
i -;,um:..,ndhvf e, I-'i‘u-;] the scalar 1_'|I2|[E‘1t1§| fl:-r I

..l"'J.L'LJ ﬂ'[ﬂ-JJ}"."J:THI:! f“_*-ﬂ'.I]ECEI hunﬁfl.‘lﬂrl ?11'

k.

s b R
P

I

; TR Rty
Provzthur fo o) = e { 2

3 a
alll & — ;EUE I}-

Find the .:Ll'll.llj.'TI.L. Tunetion () = w + fw it
3u+ e = ¥Ear? | 16y,
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QL. Code ¢ 13460

i - o R | , ) y
Expand fix) = { 0, 1 z i 2 5 period 2 into a Foumar BeTIes,

Provws that

Fx® folx)de = x* hlE) — 23t ().

Lt Btoke s Theoren; 1o ovialuate _]:, Foddf
where F=yz {4z i+ apk :
atd i the boundary of the cirele x? + R S L 1, z=0.

solve wsing Laplace transform (02 — 38 + 41¥ = 4% wiy
¥(0) = —3 and y{0}=5_

Provethal 2 f,"(x) = fix) = Jalats,

Lise Laplace teansform Loy pvaluate
Toie ‘{f u” gin kil cog iy ufu) T2
rr - ’ - -

Cibrain complex forme ot Foutier Sers fir flx) = a™ 4 (= g
where & is norar integer, Henve-deduce thal wheg o I5a-comstanl othes
than an integer® e \ :

iH 3t A N T e
S EETS O 1 e

TP ey e S ik F

COS i '= L —————
e T €
i A ey - .!.-u :

Express the furiction
! S e

Y _!_fmrq 0
fng = {E""”‘? forxz0

*

i ] 5 K L
7 asFovrierIntegral and hence,  prosse that
= S o k. . 0 ¥

AL 25
e S L Bl e
o Gt Sl o W > 00> 0
T R R P g g ' :
._-'HJE + _JII:E gy -, .llr
e T e ;

Mlging Gresn's theurem svaliare

%' ﬂe’-" ~ xu) edx — (% — ax) dy
. wliens Eu. the Sircle x® bogpdie g
' : = .
* Under the transformarion w = %, sl that the map of e straighil

lie ¥ ="x iz a circle and find il conter and radiys.
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0.P. Code: 27581

MBT LoOuzztion Mo 1 is compulsary.
£ Atzempt any thres questions out of remainmg live suestions.
3. Hgures 1o the nght indleate {ull marks,
4. fssume syitable dzta if required and mention itin answer shest

01 Sowve following
a) Exolain the tollowing decimalsin gray code fonm
1, [22) 2137 im
b} Explain Mealy maching znd Motie machine
&l Design 2 full adder using 3.8 Decades
d| Convert JE flip flop ta T flip o,

I, &) Prove that NAMD and NOR gates are Univorsal gates.

by imolement the foliowing Boalean functian uzsing #:1 miltiglazer.
FIASC D= MI0,1,4,56,8 10,12 13)

(20 Marks]

{10 Marks)

[ 10 Mtarks) f,-"'

Q3. a] Expiain 1he fohnson's Counler, Desizn far inifial stats 0110, From Initial ssgta explain dng |
. {10 Markes) h

draw all pirssitale states,

ol Minimize the followsng cxpression usirg Quine Meo-clugkey Lechnigue.
Fn:.-!-..EHi'I:I] TRIG, 5 23.57.9,11) g

2. a) C=sign @ 2 bit compara [r.:-r'-a.nd rmple:_ﬂ-’b-r—:ﬂT Lsingdogic patas
bl Using Baslzan Algebra Prove the falloviing
1 ABWBCHAC= AB~ ACE
2, [{C+C ONCHTD fiags A F+ia ¥OH Byl=C

5. &) Explain thieworklag of 3bic asyncheonous counter with proper timing diagram

[10 Mirks)

{10 Marks)

{10 Marks|

{10 Marks)

b} whaz is shife register? Explair any one type of shill register, Give its applications. (10 Marks)

0.
a] MHDL Code for.Full .5|,J|:_:-I;ra|:t|:|r
&} Expidin CALD and EpGa

<] Explain SRAM and DEAN,
.- ) Compare 1TL and CMOS logls families

FIsEddpaddmrir vy

B I THa9s906 5 SCCFAa D074 M - NFCI0 D

120 Marks)
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Q. P Code : 20753

Time * 5 Hofnows Tutud Marks: Hii
M1 Cuestion Mo, | iz Comprlsory fr e j 'I;
3, U af remaining yueslicns, attampt any threee o
L Asgume suilnble data iFrequired g o2 LV
4. Figures to the Sghtindzeae fall marks
T qa) Compars SRAM anc i3 AM ]
(b Compars Meely and Mooave mactine [5]
{]  Compurs TTL wd CMO% Logic 5]
z iy Compare LA wath 'al I5]
2. @) Provethat AN and NOR Gales are uziversal Listes p1a|
ihy  Desige 2 ol sunizrcior asd imnleinent veing [ngic Cialss 11|
1, (o Desivz sd 0l Dinary to Gy cods convertr | Eik
ihy  Lmipiement e piven Tonston ssing 511 Multipleer L
R, 8 O T e oD o2, 806, Tk 8,480,000, 13)
I' 4o (A Explain A-bir ssynesronous up couniet with oo dmisp digram [14]
My Wrilte 2 VHDL. program o desigsa 40 Mux [ 1]
5 ) Mincmize the following sxpression neing Quine MoeClusky Tochmgue [ 14
B G = el 1 B 5 Ty Fau
My ConvertdK FF o TEEand SR TFwe D FE L1
I"l"ﬁ " fi.  (wy Desipn synshronoss mwed 5 counles using T TEF RELS
() Wrile 2 note on CPLI [11H

Lk =R T R I R R
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0.F. Code : 24550 _

| Time: 3 Hours| | Murls: ¥0|

N 1 Dueation Mo, | iz compulsory,
2. Allempt any three [rem remaining guestions.

n Find voellages Wy and Vo by nodal Analysis for the cireml given below. 5
“, AvE 3 P
AR A e | F,
i = f
T | i
gadh o %I-ﬂ- a1
L] ] N
L g TR
b} Find 7 parameter of the following two port nelwark, &
_.-E1 E—D— 5‘."1- IE. I
- D—-}f—\mw.- % Lrah —0 3
i
"-h ﬁ I ""'IE—
—& .- -
¢} Synthesiee in caner 1, caver I1, Foster T and Foater 11 forms, s
I.E.I
= & +_1']
d) For the MNetwork shown Find vo'v, Also draw pole-zero plot. 5
Aaq
5 L_
o %ﬂ*
2. a) Find the current througl 500 Resistor using superposition theorem. 10
= e
—l.n-'n-"!ql—- — ‘-—‘-{::__:rﬁ_l'
R [ | B
Y- —— [ ]84 oo
] |
e e M s
Turn Oway
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1P, Code : 2495(

2
B} Dheasw the wefented graph o e followine cirewil and ohiain its incidence matrix, E
"T‘ =1
¢} Find the condition for svmmetey end Reciprocity in terms of 7. parameter, ;
a) Realize Z{s} in toster T and foster IT foem. I
f 5{5"+4)
(87 +1)(8% <0}
by In the following serdes REC civeuit switch is closed at - 0, :

Find (1) and vt} fort = 0.

=0 B
5 o WAPA
,
0.1 !
|4 T I [@
Test whether the given polynomial is Hurwitz 5
iy, SRR E AR+ IR 48
i) S+8+s
Find ABCD pararacters of the fallowing Weiwork, 1l
14 o BT 28 £y QL. Ty
e i A4 2 N
e r—\/\/
= | gy v RS

TurEn Cuer
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Q.P. Code : 24950

3
b Tesd for pogitive Real funstion 3
H
o g P i
{5) {57438 +35+])
ed Pl Tz nsing Mesh Analvaiy s
JFua N1E
e R L S
: - Seae J If/ T '.'I.I
) f e ) gse )
(— u].-:l _ IL - -
_J"E“I:L e
L. a) Dbtecn equalibrium equation using KVL in mateix form. Heace {ind link currents. 10
e by In the network given below the switeh is closed for long tiene and opesed atl -0 5

[} ?j
Find w0}, -‘;ﬂ‘i(ﬂ*] and ??m*j

) ]
3 G -EJ: - = | bag
e ’T‘TJ i ;El 5X1 S = Ei:r__l
[ |
| | | f
[ — 1 Lt i

lum Oyver
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Q.P. Code : za91

4

£} The rwitch is closed at 1 — 0. Determine current i{1), assmning zero inidal conditan,
using Laplace transtinm,

EJ:. ”‘F

k2 lMEF.
§7 4

al Forthe ladder Network shown below obtoin ¥ Ve, Wl

Ty (RS e I =0

va. 2 Vg

-

o ARy AN —
J =
s ] 1
by Find £ parameters interms of ¥ purameters,
¢l Crbtain Tieset and f-cutser matrix for the following eraph.
] . |
SR s ~ mwe Links
Y 5 " — Tioines .
\ 15 ]
-
TN

_ Ty Py Ll e L L,

ESEG2EQIS 30440 R MIISONT R I AN 2L 4 (30
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Q. P. En’de: 26311
(3Hours) : : ;
" Todal Marks: 80
Ingtroctions — i) Omesticns | i C::rnpuhcn’_'r " 8 ; - . .
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a.P. Code: 270
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Q.P. Code: 270
£).5)(a) Find the Z parameters Tor the network shown in Figure No g i il G—'}u.-Ij-'-_
_..ﬁl_ ‘-*_
4 i _H‘x
az o i Ir
‘\.'1 i 1 1 '};L ) i’
1"‘-\—
Lﬂﬂf‘ | - o f l Leap-3
- d_"'_
Figute No g
(1) () State properties of the positve teal function (PRF). : (M)
?h:l_ L:-.

(L} Check positive reuloness uFl:hn: ﬁ:u{mnn }"L.s} o WJI_h pﬂ'«p:r TEESON, {3-M1)

-mg ﬁ-x - *

Cri){a) Find Veit) amd IL,Ll"I ii} ’thr.. ,.q;h::ﬂ‘ii qlmm u1fe,gu.r‘é "T-.|.:| 9 u-hﬂ_u.lltlnﬂ_{mﬁ initind conditions

| ._x- : : .-,_f ; '|H"-' | '\-Q:;:‘j : -.,_- _l'\-_. % ol {._I |-_| Il..]J
_ .3 I JCE)
J ;E'& é o
i T f-"l-;: A I
b —r-
2 SN R C Vet
&
ot : .
L
T Figureno..
o ‘:H.
S ﬂlﬁg .-*r I’qad UIq-JEdilﬁl:.t ul"'}:g_ {%rj?lﬁl}q 'I-E:.I:'i.'ll:lﬂi!.[lﬁ'_-. 100 L2 transmizsion line of length 0.34
'JT-:JEIHJU*I:.’ Fg!-n'n:—ﬂas am; dﬂ!ﬁn:u.me‘ fﬁ[nv-ing parameters, {13-h)
'I’_“EI “-T.!n-li ol admittance al_!]:u’h_mi:l r.nd of tranamizsion line. {2-M)
i) Tind inpur impedance at the input port of tranamission line. {40
Liief Pl ;ﬂ:utiql}_,tm:‘fﬁﬂim? it the load end of mansmission line. {2-M)
(i) Find %‘ullggt-iﬁfn#c stapding ratic (VSWR) along the reansmission line. (2-M)

L
-
e

[

i

e e e

Fage 4 of 4

CRIEAFEGI T2EA NTOWET A IR TTI0IFDE




(]

d

B.:{l)
(2}
(3

rak
(k]

e

L)
el

[at)

(b}

(=]

.'I]-.,:l .

si | exTefri | caris) e J19-ted g

o P Code: 22931 - -

{3 Hours) z -

Question We, 1 12 compulzory.
Adernl eny three questions fram remaining yuestions.
Axsumes smable data If necessary. -

Drefine static characteristics of an mslrumeni. 4
Cnmpre apen loop and closed lonp eontral t.}'slt-.:-m with block diugram BE &
Derive an expression lor the resismnee uzitg Whenstene "Jnlll.l: figr: haifameed q
condition, & ST ey

Campare analog and digital data a:qﬂ].n:iL]u.'n syslEm. R, a4
Explain Hurwitr stahility criterion. =3 DA o : 4

Mention the sonrces ol err LT in ) |11|:r|:r E:,l_phm braw ﬂ m-;;l.:r 1% u'ﬂ.}d rmeazure |0

the high impedance

- L -

Avsecond order '-."-“!TEI'I"" i3 gﬁe:L Jage = TS i A S 1
- - X e i S iR B o >3
i s . i r W i il ]
P | e T S SRR R S o
RUSY  sFHENFERL e BT e i ot g
ut T N et it o

Find delay I:frm-_' 1'I'ZL timic: |h.ajglljune png-u_L iy Er"h”"l -,._ulmg time, Alsa find
anpression, fur |l'1 uul]'ni'r |c%[}nns.-.,_:' Vs R ;

G & = o

The Epén"l_mp 1,;'31'1:11"31- ﬁmctiﬁu El'a Lzl _-.- fpedback swstamm is given by I

& ok 1 S =i - \ 4 ]
: . : - |‘l f&jn i} kit %

LR S "'f-f' * S + 6) |.
] = . |

"'skt'lf.ﬁ tFn: Road mn::us u:d the Sslem, N

T - . o -':‘"\- -
”‘ﬁ‘-’-‘ fﬁﬁhﬂ{]é_gﬁﬁl:ﬁ]r lh’;'gﬁ‘-‘;ﬁ ’I.’f'ﬁ‘llsfer funtion with unity teadack [

T > : “.‘-'.- ...- >
Y i 2 e N Q7501 4 L2y

ST STk 0551+ 0.15)

Laleulate pam miargin, phase margin and somment oo stability,

TLURN OVER

Page | at'

BEECIO Y FABAF DO RS T A SR

[Tt Marks : %01]



A

i

Q. P. Code: 21
(a) I} Explain basic tolemetrys svsiem
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